
 

 

 

■正誤表「スラスラ描ける電験三種ベクトル図」 ISBN 978-4274226526 
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p.14 図 1 

吹き出し内 
対角 対頂角 

p.107 

式（4.80） 
𝑍̇ =

𝑉̇

𝐼̇
=

1

𝑅
+ 𝑗𝜔𝐶[Ω]  𝑍̇ =

𝑉̇

𝐼̇
=

1
1

𝑅
+𝑗𝜔𝐶

[Ω]  

p.107 

式（4.81） 大きさ：𝑍 = √(
1

𝑅
)
2
+ (𝜔𝐶)2[Ω] 

大きさ：𝑍 =
1

√(
1

𝑅
)
2
+(𝜔𝐶)2

[Ω] 

p.115【例題 5】 

問題文 1 行目 
𝑒 = 400√2 sin𝜔𝑡 [V]  𝑒 = 200√2 sin𝜔𝑡 [V]  



 

 

 

p.118 
sin𝛼 sin𝛽 =

cos(𝛼−𝛽)+cos(𝛼+𝛽)

2
  sin𝛼 sin𝛽 =

cos(𝛼−𝛽)−cos(𝛼+𝛽)

2
  

p.126【例題 6】

解答 
𝑋𝐶 =

1

𝜔𝐶
=

1

2𝜋𝐶
 𝑋𝐶 =

1

𝜔𝐶
=

1

2𝜋𝑓𝐶
 

p.176【例題 1】 定絡二次電圧 

定絡二次電流 

定格二次電圧 

定格二次電流 
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p.65 下から 

2～3 行目 

スカラ積𝐶̇は、 

𝐶̇ = 𝐴̇・𝐵̇ = 𝐴𝐵 cos 𝜃  

スカラ積𝐶は、 

𝐶 = 𝐴̇・𝐵̇ = 𝐴𝐵 cos 𝜃  

 

 

 

  


